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2a. Let P be the point on the graph of y = 2° — 2 with z = 1. Show that there is a point @ on the
graph such that the tangent lines to the graph at the points P and @ are perpendicular to each other.
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2b. In one of the following figures, the graphs of two functions f and g together with their derivatives
f" and ¢’ are shown; while in the other, the graphs of two functions h and k together with their second
derivatives h"” and k" are shown. Identify each by filling in the boxes with f, g, f’, ¢, h, k, h”, and k”.
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